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( PART : B—DESCRIPTIVE )
[ Marks: 45

The figures in the margin indicate full marks
for the guestions

1. fa} What is secondary data? Discuss the
advantages and disadvantages of
secondary data. 2+7=9

Or

fb) What do you mean by classification of
data? Also discuss the various types of
classification done in statistics. 2+7=9

2. fa) Calculate the mode from the following
data : 9
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(2)

Or

fb] A company wanted to assess the impact
of expenditure [X) on annual profit (Y).
The table given below for last 6 vears ;

X : 5 110 12 13 20 18
¥ + 230 28 30 40 60 a7

Calculate the regression line of ¥ on X
and estimate the profit for an
expenditure of ¥ 30 crare.

3. fo) From the following data of wholesale
prices of wheat for the 7 yeams,
construct the index number i taking
1964 as base and (i) by chain baase
method : o

Year : 1960 1961 1962 1963 1964 1963 1966
Fricecfudeat : 30 35 55 40 50 60 65

Or

fb} What do you mean by consumer price
index mumber? Discuss the uses and

limitations of consumer price lndex
number, J+3+3=0
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4.

(3]

faj Calculate the seasonal indices from the
following table by the ratio to moving

averages method : 9
Senson 1950 | J98) | 1982 | [98F | 1984
Quarter! | 40 | 42 | 21 | 45 | 44
Quorteryy | 35 | 37 | a5 | 36 | 38
Quarter If | A8 39 a8 i a8
Quarter [V | 40 a8 43 41 437
Or
b} What is time series? Discuss the various
mmpmuﬂfﬁmtlﬂiﬂ. 247=0
faj Give a distinction between census
method and sample method. 9
Or

B In a class, 20% of the students failed in
economics, 10% of the students failed in
entreprensurship and 7% failed in both,
A student ls selected at random. What is
the probability that—

f@ the student failed in economics
gven that he  failed in
entreprensurship;

fiy the student passed cither in
economics or entreprencurship?

- W
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( PART : A—ORJECTIVE )
[ Marks:25)

The figures in the margin indicate full marks for the questions

Answer all questions

1. Put a Tick (v} mark against the correct answer in the
brackets provided : 1=10=10

fa) Population characteristics are called
fii parameter £
fii) statistics S |
fiif] wvariable [ )
fiv) atiributes [ )
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| 2)

(B} The guickest method of collecting primary data is
fij telephone interview ()
fij direct interview ()
{ifi) mail questionnaire | )

(i) schedule sent through enumerator ()

fe) Coefficient of correlation will always be
fil more than 0 L )
(i) more than -1 { )
fiif) less than -1 { )

fiv) between -1 and +1 ko

{d) Rank correlation method was developed by
il Charles E. Spearman ()
(i) Karl Pearson E )
fili) Charles Babbage ( )

(iv) None of the above i )
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fe]

{31

Fisher's ideal index number formula satisfies
fil time-reversal test i )

fiil factor-reversal test { )

fiii) Both (i) and i) ()

fiv) None of the above ( )

Basc ycar quantities are taken as weight in

(i Paasche's price index number { )
fiij Laspeyre's quantity index number | )
fii} Paasche quantity index number { )
fiy Laspeyre’s price index number { ]
A time series consists of data arranged
chronologically.” Who coined the definition?

fil Morris Hamburg ( )

fii} Ya-Lun Chou i )

fiii) Croxton and Lowder { J

fiv) Levene and Rubin i )
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[ 4)

fh) The probability of getting a king from a pack of
52 cards is

N == .

fi) — )

i) — k.

Ay == ( )

fil Convenience sampling is a
fii probability sampling { )
(i) non-probabihty sampling { )
(i) random sampling (I

fi) MNone of the above { |
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i The interval between the basc pont and the
jorecus| poinl s termed as

il basc pount | |
fi) [erccast pogl
i1} range of [orecast i |
fiv] MNene of the above f }
1 Imdicate whether the following statciments are True or

Faise by putung a Tick |« mark i the ackets
providrel I=5=h

i Schedule 13 filled up by misrmants

True | ] False | [
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| )

ftr) Ecut:rclinpwnhelpimmmtmidunu!tht
correlation between two variables graphically.

_l'wt[]f"ﬂ!ﬂlll

fc) Probability sampling and random sampling are

{d) In chain buna,mubmtywchnnin{mmyw-
to-year.

fe} Trend refers to the steady movement over & short
period of lme.

True | ] False | ]
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3. Wrte short notes on the following : 2x5=10
faj Census method
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({ B)

{b) Univariate data
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(9]

fc) Chain index number
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(10 )

{d) Business cycle
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(11 )

fef Classical method of probability

LA
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